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1. Which of the following are true?

a) The value of sinDis always less than 1
b) If sinD =0, then cosD=1or cosD=-1
€) The value of tanD is always less than 1
d) The value of cotDis always less than 1
e) cosD is the abbrieviation for cosecD

(i) {c,a} (ii) {e,ca} (i) {d,b,a} (iv) {d,b} (v) {a,b}

2. For angle values from 0° to 90°, which of the following are true?

a) The cotangent value of the angle increases

b) The tangent value of the angle increases

c) The product of the sine and cosine values remains a constant

d) The cosine value of the angle increases

e) The sum of the squares of the sine and cosine values remains a constant
f) The sine value of the angle increases

(i) {a,b} (i) {c,e} (i) {b,ef} (iv) {cb,e} (v) {d,af}

3. Which of the following are true?

a) The cotangent of an angle is the reciprocal of the tangent of the angle.
b) sin(F+ G) =sinF +sinG

¢) The cosecant of an angle is the reciprocal of the secant of the angle

d) cos(F+ G) = cosF + cosG

e) tanF=tanxF

f) The cosine value of an angle is the reciprocal of the sine of the angle.

(i) {c.a} (ii) {a} (i) {f.a} (iv) {ba} (v) {dea}

4. Which of the following are true?

a) The value ofcos@ increases as@ increases from0° to90°
b) sin® = cos6 for all®

€) The value ofsin® increases as @ increases from0°to90°
d)tan(G+ H) =tanG + tanH

e) tan® = cot® for no value of@

f) sin(G+ H) =sinG + sinH

g) cos(G+ H) = cosG + cosH

(i) {dec} (ii) {b,c} (iii) {f,c} (iv) {c} (v) {ac}



5. Which of the following are true?

a) 2 2

sec 6 +tan 6 =1,0=<6=<090°
b) . 2 2

sin 8 +cos 8 =1,0=6=<090°
C) .2 2

sin 8 —cos 8 =1,0=6=<090°
d) 2 2

sec 8 —tan 6 =1,0=<6=<90°
e) 2 2

cosec 6 +cot 6 =1,0=<6=<090°
f) 2 2

cosec 6 —cot 6 =1,0=<6=<290°

(i) {e,a,f} (i) {c,b,d} (ii) {a,b} (iv) {b,d,f} (v) {c,d}
6. Ifsin2H = 2sinH, thenH=

(i) 0° (i) 60° (iii) 30° (iv) 45° (v) 90°

1 1
7. If sin(A+B)=2\/3 and sin(A—B)=2 LfindA&B

(i) A=45°,B=15° (ii) A=43°,B=13° (iii) A=44°,B=14° (iv) A=47°,B=17° (v) A=46°,B=16°

8. If tan(E+ F)=v3 and tan(E— F) =v3 ,find E&F

(i) E=47°,F=17° (ii) E=45°,F=15° (iii) E=46°,F=16° (iv) E=43°,F=13° (v) E=44°,F=14°

9. If sin5x = cos((x+12)), thenx=

(i) 10 (ii) 13 (iii)) 14 (iv) 16 (v) 12

10. If cos4x = sin((x+65)), thenx =

(i) 6 (ii) 4 (iii) 5 (iv) 2 (v) 7

11. If tan4x = cot((x+50)), thenx =

(i) 7 (ii) 5 (iii) 9 (iv) 10 (v) 8

12. If cot7x = tan((x+34)), thenx =

(i) 6 (ii) 8 (iii) 4 (iv) 7 (v) 9

13. If sec7x = cosec((x+34)), thenx=

(i) 5 (ii) 10 (iii) 6 (iv) 8 (v) 7

14. If cosec4x = sec((x+45)), thenx=

(i) 10 (ii) 6 (iii)) 9 (iv) 8 (v) 11



15. Which of the following are true?

a) .
1+ sin®
(seco —tane)2 =
1 —sinB
cosO cosB
+ = 2tan®
cosecH + 1 cosecH — 1
cosO cosO
+ - = 2
1 —sin® 1+ sin®
1 + sin® cosO
+ - = 2secH
cos6 1+ sin®
e) .
1 —sin®
(sec6 —tane)2 = -
1+ sinB

(i) {a,c,e} (ii) {b,d,e} (i) {c,d} (iv) {a,b} (v) {a,b,d}
16. Which of the following are true?

(sin® — cose)2 = 1+ sin26

b) 3 .3 . .
cos 6 +sin B8 = (sin® + cosB)(1 — sinBcosB)
C) .
cos6 1 —sinB
1 + sin® cosO
d)
secO 1 — cosecO
1 + cosecH secO
e) 2 .
(sin@ + cosB)” = 1 +sin26
f) 3 .3 ) )
cos 6 —sin B = (sin® + cosB)(1 — sinBcosB)
. 2 . 2
(sin® + cos®)” + (sin® —cosB)”™ = 2

(i) {b,ce,g} (i) {fae} (i) {ab} (iv) {d,c} (v) {d,gb}

T+ U
17. IfT,U and Vare the interior angles of a triangle, then sin(

(i) si (\'/) (i) (\'/) (iii) sinV (iv) si (T) (v) (T)
) sin(0) (i) cos(2) (i) sinV(iv) sin(0) (v) cos(;



18.

19.

20.

Which of the following are true?

a) sec57° = cosec33°
b) sin40° = cos40°
) sin35° = cos55°
d) cos38° = sin38°
e) sin51° = cos39°
f) sin23° = cos67°
g) tan34° = cot56°

(i) {d,c} (ii) {bd,e} (i) {b,a} (iv) {acef,g} (v) {bf.g}

Which of the following are true?

a
b

) cot0° is not defined

)
¢) cosec0° is not defined

)

)

sec90° is not defined

d) tan90° is not defined

€) sec0° is not defined

f) tan0°is not defined

g) cosec90° is not defined
h) cot90° is not defined

(i) {a,b,c,d} (ii) {g,h,c} (i) {ed,a} (iv) {e,a} (v) {fb}

Which of the following are true?

a
) 1
cosecH =
sin®
b
) 1
cotB = -
secO
C
) 1
secb =
sin®
d
) 1
secb =
cosO
e
) 1
tan@ =
coto
f
) 1
cosb =
cosecH

(i) {c,a,d} (i) {b,a} (i) {fb,e} (iv) {ade} (v) {cd}



21.

22.

23.

24.

25.

26.

Which of the following are true?

(i) {g.f.d} (i) {ced} (i) {b,f} (iv) {ad} (v) {df}

Which of the following are true?

a) sin45° =0
b) cos0° =0
c) tan0° =0
d) tan90° =0
e) cos90° =0
f) sin0° =0
g) cos45° =0
h) sin90° =0

) {b,e} (i) {a,c} (i) {d,g,f} (iv) {cef} (v) {hc.e}

Which of the following are true?

a) cos(90 — 6) =cos6
b) cosec(90 — 6) =secH
c) tan(90 — 6) = — tan®
d) sec(90 — 6) =cosecH
e) cot(90 — 6) =tan®d

f) cos(90 — 6) =cotB

(i) {c,b,d} (ii) {fa,e} (i) {c,d} (iv) {b,de} (v) {a,b}

Which of the following are true?

a) cot(90 — 6) =tan®

)
b) cos(90 — 6) =sind
¢) sin(90 — B) =cos6
d) tan(90 — 6) =cotH
e) cos(90 — 0) = — cosH
f) sin(90 —8)= —sin®

(i) {efc} (ii) {ed,a} (iii) {a,b,c,d} (iv) {fb} (v) {e,a}

If y=cosB + sin6,z=cosBsinB then

(i) ¥2 =(=22z+1) (i) (J2+Z2%) =1 (i) (J2+2%) =0 (iv) y2 =(2z+1) (v) (y°2-2%) =1

If w=cos8 + sin®,x=cosB — sin6 then

(i) (W2=x2) =2 (i) (Wl+x2) =0 (i) (W2+x2) =1 (iv) (WP2=x2) =1 (v) (W2+x%) =2



27. If e=vcosBO + wsin® and f=vsin® — wcos0, then

(i) (e2=F£) = (V2=w?) (i) ef = vw (iii) (V2+e2) = (W2 +FR) (iv) (e2+F) = (V2 +w?)
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